Key to Quiz I; F4360; 2:00 Class; Fall, 1999

1.  Suppose you are planning to slowly build a portfolio by adding a single stock to your portfolio each quarter.  As a result, after your initial investment, you will only own a single stock.  What will be the best measure of the initial risk that you face from owning the one stock?

standard deviation

2.  You currently own a portfolio with an expected return of 16% and a standard deviation of returns of 15%.  However, you are considering adding another asset to your portfolio and have narrowed your list to the five company’s stocks listed below:



Correlation with 

Stock
Expected return
Std. Deviation
existing portfolio
1
15%
22%
+0.90

2
22%
43%
+0.34

3
13%
19%
-0.15

4
17%
18%
+0.75

5
12%
24%
-0.21

Which asset should you add to your portfolio if your goal is to maximize the expected return on your portfolio?

#2

3.  Assume you estimate that the return on Jump.com for the coming year will depend on the economy as follows:

Economy
Probability
Return
Great
.35
45%

Good
.50
15%

Poor
.15
-3%

What is your best estimate of what Jump.com will earn in the coming year?

22.8 = .35(45) + .5(15) + .15(-3)

Use the following information to answer questions 4 and 5.

Asset
Std. Dev.
Correlation with S&P500
A
34%
0.71

B
28%
0.67

S&P 500
22%
1.00

4.  What is the beta of asset A?  


[image: image1.wmf](

)

(

)

(

)

(

)

2

22

22

34

71

.

0

09727

.

1

=

 (partial credit:  correct use of: 0.67 [+3], 28 [+3], 22 [+4])

5.  Assume you invest $150 in asset A and $350 in asset B.  What will the beta of your portfolio equal?
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 p = 0.92609 = .3(1.09727) + .7(.85273)  

(partial credit:  equation [+2], .3 [+2], .7[+2], 1.09727 [+2], 0.85273 [+2])
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Use the following information to answer questions 6 through 10.

Assume you intend to invest 40% of your initial wealth in T-bills then invest all of your remaining wealth in the following three risky stocks.

Stock
Expected Return
Std. Deviation
A
13%
18%

B
22%
36%

C
19%
25%

Rate of return on T-bills = 4.5%

6.  Sketch a reasonable efficient set.

7.  On the same graph as 6, sketch and label your optimal portfolio of A, B, and C.

8.  On the same graph as 6 and 7, sketch and label your optimal total investment (including your investment in T-bills).

9.  Assume that you decide to sell half of your T-bills and invest the proceeds in the optimal mix of A, B, and C from 7.  Demonstrate how your answer to 8 would change as a result.

10.  Assume that the optimal mix of A, B, and C in 7 involves putting 25% in A, 40% in B, and 35% in C.  Suppose you decide to increase your return by selling some of your stock in A and buying more of B.  Demonstrate how your answer in 9 would change as a result.
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